Distance: 0.94 AU, Carying Capacity: 10 bilion ppl, T’ 0.849
348 '»zau
236 -360_
¢ — £
EE S -3408
g S
£342 -3209
g
-300
05 10 15
Population (billion)
Distance: 0.94 AU, Carrying Capacity: 40 bilion ppl. T’ 0.849
348 I—]Bu
g6 | -360_
e : E
Z3aa | 308
e — Tam S
ey = raeareaux 3203
g
1 300
00 05 10 15 20
Pooulation (billion)
Distance: 0.94 AU, Carrying Capacity: 70 bilion ppl. T 3.398
348 I 380
£346 i -360
e : £
23 T -3008
g 3
g 3203
e
-300
Distance: 0.94 AU, Carrying Capacity: 100 billon ppl ' 5,946
I- 380
-360
£
-3008
3
3208
1 300

05 10 15 20
Pooulation (hillion)

Distance: 0.95 AU, Carrying Capacity: 10 billon ppl,

Temperature (K)

Distance: 0.96 AU, Carrying Capacity: 40 billion ppl,

Temperature (K)

4 6
Population (billion)

10 15
Pooulation billion)

Distance: 0.9 AU, Canrying Capacity: 70 billion ppl, I

3250

$3225

fen—
308

Distance: 0.96 AU,
3215

23250

13225

H
j200

10 20 30
Pooulation (billion)

Carrying Capacity: 100

\

— ek

== M =98 it

0 20 30 4
Ponulation hillion)

ri o228

1000

-800

-600

PCO2 (ppm)

200

oa1
-2000
1750
1500
12508
10008
3
-750
500

1593
-2500

2000

-1500.

pco2 (ppm)

1000

500

Distance: 0.98 AU, Carrying Capacity: 10 billon ppl,

ro.

4 6
Ponulation (billion)

Distance: 0.98 AU, Carrying Capacity: 40 billion ppl, T

308

8

4

8

Temperature (K)

g

Distance: 0.98 AU, Carrying Capacity: 70 billion ppl,

S

_—

1

o 20 30
Pooulation billion)

Distance: 0.98 AU, Carrying Capacity: 100 billion ppl,

8302

300 4‘

0

E 07 o Meaei3smn

10

20 30 40 60
Ponulation (hillion)

140

' 1200

-1000

-800

PCO2 (ppm)

200

0574

-1500.

1000

500

1005

2000,
-1500!
-1000

|-500

-1000

CO2 (ppm)

g

S
]

pCO2 (ppm)

Distance: 1.0 AU, Carrying Capacity: 10 billon ppl, T 0.122
, 1400
202 \ 4
| 1200
g - _
K i 1000
£200 ; ]
g I o800 ~
2260 g
?
s -600
88
100
287
2 4 6
Pooulation (billion)
Distance: 1.0 AU, Carrying Capacity: 40 bilion ppl, T’ 0.486
2500
-2000
-1500
-1000
500
Distance: 1.0 AU, Carrying Capacity: 70 billon ppl, T 0.851
—% 3500
296
< 3000
2 -2500
§2 -2000
g -1500
Ez
1000
-500
o 0 20 30 a0 50
Pooulation (Billion)
Distance: 1.0 AU, Carrying Capacity: 100 bilion ppl, T+ 1215
s h\ ' 1000
g2% E
200  rassremmx -3000
2 T
g292 -2000!
§ao0 e
pee =
288 / 1000
o 10 60

20 30 40 50
Ponulation (billion)

E
]
8
4

E
g

2

pCO2 (ppm)

Distance: 1.02 AU, Carrying Capacity: 10 billon ppl,

rio.

Temperature (K)

4 6
Ponulation (billion)

Distance: 1.02 AU, Carrying Capacity: 40 billon ppl, T

Temperature (K)

Distance: 1.02 AU, Carrying Capacity: 70 billon ppl. T

£

0 20 30
Pooulation (billion)

Distance: 1.02 AU, Carrying Capacity: 100 bllion ppl, T

286

b
£ 280

=278

20 30 40 50 60
Ponulation (billion)

125

e

8

pCO2 (ppm)

-800
-600

|-400

oass
2500

2000

-1500

]

g

|-1000 >

500

0873
3500
»2500%
2000
-15008
1000
500

1247
4000

3000

-200

pCO2 (ppm

-1000



